EAGRAROBREERT — 2 N— ABISH —F

2021438100 (K) 17E=%16H

— ~ R— [XM&] B | [REWE] — |4 (H) 1300 &
M C3-8 C3 5% |
[A&4£] 1 7% :500,000 ™ ~ 23%&:175,000  ~ 3 #&:100,000 @ ~ 4 3#&:75,000H . 5 & :50,000
B ®RBE BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
# . —0_o_ _ FET (S
1 0| N—Z2EL— 3> M4 QESJ_I(I)@IEA 1.(2_5).0 2-2-2-1 |39.3 1| 466 ZE’G (B
LN=VI714 B:LyTALI/ZR (-6) () HA2I-KRL—ya>aAETr
3,2 = BRI 1:27. -8-7- 40.7| — 7 42 NHFBE (BH)
2 6 =77 3 $52.0 (g,fa,?) 676 0 (+15) FizEen)
L:IZXKRT—ILYF— B:24X75UR KBRS
= w7 | MRt 1:27.6 4-4-4-3 | 41.6| — 5 467 | TEEET (B)
311|777 — - 56.0 (7€) (-1) |=%AEE
R:ZAGr T " A —F7—FK—K B./77z7V— FH #A
— ¢ e+ E2 3R : —5-5- - BEEX (FH)
4l5|5 | T=8—vnz1n H o4 il 1(72{:? 7-5-5-5 | 41.2 8 (4_9;8) T
L:7UF—v BiNFT1—> *RT7— L
Sy — =5 KHFEAE :28. ~6-6- . - MEEX (SH)
5l7 7| vy =v757 o4 S 1(228)0 5-6-6-7 | 41.5 4 (4_121) WEI# ]
7=V FI-ZX B:JRUT7INTy K RS
“x = KIEH BB :28. ~7-8~ . — #lEBE (BH)
6 4 S 4 5 =i 1(/31;5) 6-7-8-8 | 41.1 6 ig? L
Rih—tE>TI4 N BUI-rT1—% HEEMH IXF1T7—L
- HEBX : —3-2- - THBR (BH)
7 NREE IR 41 e 1(.32/%1 3-3-2-4 | 42.4 3 ;1_24) puzr
R:F15280 B:4—0I F4>7 "HET7—L
. =\ t> 8 | HEEBKX 1:28.2 1-1-1-2 | 42.7| - 2 468 | TEEEE] (&)
glglo| 77 1%+ TFr ~ %1 5.0 (1/2) (+15) | BEER
R:wyVEdyR B:2=/Jalby 7T EZX 2V K
SN 1+ 10 HRENF - - - - - — | BIFFES (FH)
+x/8| 8| T—NTT K A ) o |umEmz
L=V FITyva BT Yy Y I #h=
@ I—F—@EBIERL
|3=7r= 9,2,3,1,7,4,5,6
2ol=5"= 9,2,3,1,5,7,4,6
== 9,(2,3),1,5,7,6,4
43—F— 2,9,1,3,5,6,7,4
[ N
B 2 1309 794K 2-6 720M B & 2-6 1,900 &R 1-2-6 5,180/
# B 2 120M9 1-2 480 B H 2-6 2,140M EE 2-6-1 14,690
6 810M 1-6 4,140/
1 360

ARICOVWTRDTEEERROODE. TR LI,




